$ATE (02058 2EIOCY 2274 ¥y s ESREAS Ak - FARRK SMEF—B
27
@9 ~11% 1 miRIRARIA O12~13% 1 miiRACL @14~15i 3 miRIRARIA @16~18% 3mRIRAIA T @16~18/% @AGL bt
No |4 gl g2 S No |K#& gl g2 P No |4 A&l g2 P No | K4 EL FrE2 P No | x4 FrEL FRiE2 PE
1[REA BEH REDC N4 1|t i FEDC F1 1 [+ K& S S +3 1|&s =k FHREBARR =3 1|&s FREFR =3
2 |2 HE /MRD C /5 2 |#K EK KEADC H2 2|58 A BliDC +3 2 |BR @B}t KEDC FREARR (&3 2 |'RE X RRSC BREASR |&1
3|2 &%} (4D C /W3 3 |IRE K& KEDC /6 3 R FEDC 2 3 |BER &} KEDC FREAR (&1 3|ER @B}t REDC FREERR (&3
4 [1LE A FDC /N3 4 | —y /MRD C 2 4 |fEiE B REHEDC h2 4 |3RE H%K EILEBREAA ®2 4 |1ER &} RFEDC FREER (&1
5 |&BE E& EMWDC /5 5 WL $EF FDC NS 5 | B KEDC +3 5 |xHE & ™3 5 |iRE H% EILEBRAA ®2
6 |Fe = RIRAKEF NS 6 (f1E = MAPgLDC F1 6 [BR T2 [READC +3 6 |EX HE =3 6 |i%H & IMRRB =3
7T B LD C NG 7|18 B2 MIDC NS 7| E EIDC 3 7 |EE EK BOREARR (@1 TR WmE IRR BB =3
8 | &M f&F MIDC N 8 [&#& #A #ASPC 1 8 |—REE & concent 2 8 B K& ET SRS i &3 8 | JRi BHERDH &2
9 |lEH R#& @S C NG 9 (EE A #ASPC NS 9 |EE =& MIDC 3 9 | JHd HEBRAGE &2 9 |FE =5 concent LR EHEE &2
10 [(EE &% @S C 2 10|HF ZHi MIDC 3 10|FfE =5 concent UES 3= &2 10| %8 KiE R#DC =1 &1
O12~18i% >/ 0F 4 XF 3 mRARARA 11 K HE A#DC 2 11(# fHE BEm PR &1 11|HE$  EH Z&EDC &2 11|EAR EHR #YIDC 2
No | K4 gl @2 RS 12|f0E  &8h ‘LT, C 2 12| %8 Ki8 RH¥DC ESITESTE =1 12|f1B R #/LT. C &1
AR OE FED C FREMSE |&3 O12~13 HAA 13|dert 5% #E¥]DC 2 13[EAR B MWIDC &2 1B LE #/LT. C &1
' AR E3} FED C FREMSR &1 No |4 FrEL FrE2 S 14|f18 R BT, C &l 147 4% mAS C =3
wE NE B ERAM &2 1| E% F#EDC 1 O14~15 SAA 157 L& =S C =3 15(1RR &5 FR BB 3
’ A =% concent L EHE &2 2 (sl —iE JMED C 2 No |4 gL g2 s 16 [RR %5 FREEIK =3 16 [#H #=¥®DC 3
i k% ERBEPE &3 3 (1L A FDC /N6 1(5% NA BDC 3 17 (K #BDC &3 17 BA *#DC AFAESE &3
SREE R AHEABE =2 4 |f0E AL MILDC 1l 2 |81 Hh F#EDC 2 18 |#H # #E¥EDC =3
MA BX LT, C =1 5 (18 2N MIDC /N6 3 |k BE KEDC 2 198 |A *#DC AFAESE |®3
) B OLE LT, C &1 6 (B #HA #ASPC 1l 4 | BB KEDC 3 20|%A B2 *#DC ANEBEE &2
A 158 RULT. C $2 T(EE M #ASPC NS 5 |&f8 HE EIDC 3
’ HHROEA #ASPC H1 8 A &F =HS C H2 6 |=hE # concent 2
wmF AL ®AS C 3 9 [FAR W A#DC 2 T|EE & MIDC 3
’ p s =S C $2 8 [EH EH MWIDC 3
9 |FIE &Bh LT, C 2
10[dert 5 #EHDC H2




